RIGGING

HW

FT

(_J ModTruss

Vertical
Rigging Mounts

Standard Material
Standard Finish
Available Finish(es)
Size

Weight

Hole Size

Recommended
Hardware

Recommended Tools
Capacity

MT-RG-RM-06-16-FLT-V

€y

=
&

w

¢z
L)
\\"

-
Cp
€y Ly

Cw
>

A36 Low Carbon Steel

10 - Zinc Clear

10-12 Zinc | 20-30 Powder Coated

16" x 6" x .50" (406.40mm x 152.40mm x 12.70mm)
10.8lbs (4.90kg)

11/16" (17.46mm) 1" (25.40mm)

5/8"-11 Thread Grade 8 Bolt | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Gra-
de 8 Hex Nut | (M16 x 2 Thread, Class 10.9 Bolt | M16, Class 10.9 Washer| M16 x 2
Thread, Class 10.9 Nut)

Tool Kit 1
5,0001bs (2,268kg)
In Stock Compatible Serialized & Made To

Traceable Order



o

(2 ModTruss

O

x| X || | << U S| | I || -
AL XX-90-WA-Od-IW__ soont
SINNOW ONIOOIY ._<U_Em__> SLS
_>_zo_w,>ui ¥202/22/T P 2 \ /
wimeersisy |« SSNALPOA E e
| o O 0O
[9v'LL]__/
_ [soowi] ﬁ : 69 O O O
SLS 09'82C
Tw.m; 00°6 O O O
7o) O 0O
[o7°90¥]
3 Mu/ 0091 [o1°ge] O O O
A o “L__ 1 600
[oeyLL] O O O
0S¥
(005 000 | [ouse]
0001 O O 0S°L
[61'9Z]
0L
[61°9C]
0L
[0sTl] orz1]
05’ oo
i 1
iR *

A-114-01-90-WY-O¥-1IW

A-114-91-90-WY-O¥-IW

oo
e
©
C
()
o
[%2]
%
C
()
2
©
o
&
e
5
(@]
oJ
g}
AN
41
o0
©
4/
o0
S
zZ
-
C
()
o
[
o
A
o



